firehner clektronik=3=

Befestigungsmaterial ‘ Mounting accessories

Accessoires de fixation

Zylinderschrauben
DIN 912/EN ISO 4762

— mit Innensechskant
- Festigkeitsklasse 8.8
— Oberfléche: galv. verzinkt

Verpackungseinheit: 100 Stiick/Beutel

Hex drive cheese head screws
DIN 912/EN ISO 4762

— with internal hexagon
— grade of resistance 8.8
- surface: zinc-galvanized

Packing unit: 100 pcs/bag

Vis & téte cylindrique
DIN 912/EN ISO 4762

- & 6 pans creux
— classe de résistance 8.8
- revétement: galvanisé zinc

Conditionnement: 100 piéces/sachet

Art. Nr. Art. Nr.
Art. No. Mafe/Dimensions Art. No. Maf3e/Dimensions
Art. n° Art. n°
e -+ ——- H—-— SIS 40 10 M4x10 SIS 40 80 M 4 x 80
SIS 40 16 M4x16 SIS 60 20 M 6 x 20
SIS 40 25 M4 x 25 SIS 60 25 M6 x 25
SIS SIS 40 30 M 4 x 30
M 6
Zubehor: Accessoires: Accessoires:
Art. Nr. LM 6 Art. No. LM 6 Art. n°LM 6

Linsenschraube M 6, passend fir KM 6

Art. Nr. KM 6
Kafigmutter M 6, arretiert im 19" Raster

KU 6

Zubehor:

Art. Nr. KU 6
Kunststoffunterlegscheibe fiir LM 6

Kombinationsgehduse mit Frontplatten

Teilfrontplatten
Euro-Gehduse
Zubehor (BGT)

N119

Lens screw M 6, for KM 6

Art. No. KM 6
Cage nut M 6, with 19" Locking device

Accessoires:

Art. No. KU 6
Plastic washer for LM 6

Combination cases with front panels
Part front panels

Euro case

Accessories for subracks

Vis a téte bombée M 6, convenant
pour KM 6

Art. n° KM 6

Ecrou & cage M 6, arréte au pas de 19"

Accessoires:

Art. n° KU 6
Rondelle plastique pour LM 6

Boitiers combinés avec faces avant > M9-12,M 14
Faces avant partielles = N103-122
Euro boitier > M8
Accessoires pour racks modulaires - N59-62




fireher clcktronik=i=

Befestigungsmaterial ‘ Mounting accessories | Accessoires de fixation

Senkschrauben
DIN 965/EN ISO 7046

— mit Kreuzschlitz, Form H
- Festigkeitsklasse 4.8
— Oberfléche: galv. verzinkt

Verpackungseinheit: 100 Stiick/Beutel

Cross drive countersunk screws

DIN 965/EN 1SO 7046

— with cross slot, form H
— grade of resistance 4.8

— surface: zinc-galvanized

Packing unit: 100 pcs/bag

Vis a téte fraisée
DIN 965/EN ISO 7046

- & fentes croisées, forme H
- classe de résistance 4.8
— revétement: galvanisé zinc

Conditionnement: 100 piéces/sachet

N Art. Nr. Art. Nr.
Art. No. Maf3e/Dimensions Art. No. Maf3e/Dimensions
Art. n° Art. n°
S ] —-— SSE 20 05 M2x5 SSE 30 50 M 3 x 50
SSE 20 08 M2x8 SSE 30 60 M 3 x 60
] SSE SSE 25 04 M25x4 SSE 40 06 M4x6é
SSE 25 06 M25x6 SSE 40 08 M4x8
SSE 25 08 M25x8 SSE 40 10 M4x10
SSE 25 10 M25x10 SSE 40 12 MA4x12
SSE 30 04 M3x4 SSE 40 25 M4 x25
SSE 30 06 M3x6 SSE 40 30 M 4 x 30
SSE 30 08 M3x8 SSE 40 50 M 4 x 50
SSE 30 10 M3x10 SSE 50 10 M5x10
SSE 30 40 M 3 x 40
Linsensenkschrauben Cross drive raised head screws Vis a téte fraisée bombée

DIN 966/EN 1SO 7047

- mit Kreuzschlitz, Form H
- Festigkeitsklasse 4.8
— Oberfléche: galv. verzinkt

Verpackungseinheit: 100 Stiick/Beutel

DIN 966/EN 1SO 7047

— with cross slot, form H
- grade of resistance 4.8

— surface: zinc-galvanized

Packing unit: 100 pcs/bag

DIN 966/EN 1SO 7047

- & fentes croisées, forme H
- classe de résistance 4.8
— revétement: galvanisé zinc

Conditionnement: 100 piéces/sachet

Linsenschrauben
DIN 7985/EN ISO 7045

- mit Kreuzschlitz, Form H
- Festigkeitsklasse 4.8
— Oberfléche: galv. verzinkt

Verpackungseinheit: 100 Stiick/Beutel

Art. Nr. Art. Nr.
Art. No. Maf3e/Dimensions Art. No. Maf3e/Dimensions
Art. n° Art. n°
SLS 25 08 M25x8 SLS 30 10 M3x10
SLS 25 16 M25x16 SLS40 10 M4x10
SLS 30 05 M3x5

Cross drive cheese head screws

DIN 7985/EN ISO

- with cross slot, form H
- grade of resistance 4.8

7045

— surface: zinc-galvanized

Packing unit: 100 pcs/bag

Vis a téte bombée
DIN 7985/EN ISO 7045

- & fentes croisées, forme H
- classe de résistance 4.8
— revétement: galvanisé zinc

Conditionnement: 100 piéces/sachet

Art. Nr. Art. Nr.
Art. No. Maf3e/Dimensions Art. No. Maf3e/Dimensions
Art. n° Art. n°
— bl - SLI 30 04 M3 x4 SLI 50 12 M5x12
SLI 30 05 M3x5 SLI 60 10 Méx10
sL SLI 30 06 M3x6é SLI 60 12 Méx12
SLI 30 10 M3x10 SL1 60 16 Méx16
SLI 40 10 M4x10 SL1 80 20 M 8 x 20
SLI 40 12 M4x12
Einschubkassetten Insert modules Cassettes enfichables - N79-102
19” Gehause ,Plusline” 19” Case ,,Plusline” Coffret 19 ,,Plusline” > N9-14 N 'I 20
Baugruppentrager Subracks Racks modulaires - N51-76
Kombinationsgehduse mit Frontplatien  Combination cases with front panels Boitiers combinés avec faces avant <> M9-12,M14





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (Adobe RGB \0501998\051)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages true
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth 4
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 850.394]
>> setpagedevice




